CHAPTER VII

MARKET, PLANNING, AND SOCIALIST REVOLUTION

Can a socialist planned economy work?  For Marxism there is too much stake in this question.  It is well known that for Marx a socialist society must be based on a planned economy with production for social use value rather than exchange value.  For under the modern socialized production, only with a planned economy, can human beings have conscious control over productive forces, social relations, and thus their own lives, and consequently can they be liberated from any form of oppression, exploitation, and alienation. 


The question appears to be a technical problem.  That is, the answer to the question depends on whether we are able to conceive some kind of technical model which shows that the socialist planned economy has the technical ability to solve modern economic problems with a reasonable efficiency.  In fact, it has been treated as no more than a technical problem not only by bourgeois economists and market socialists but also by many Marxists who have involved in the controversy.


On the other hand, if we accept the conclusion of bourgeois economists and market socialists that a market economy is indispensable for any modern society, we would have to agree that some form of oppression and exploitation is indispensable for human civilization, not historically, but as long as human civilization exists.  In fact, in the sense that the market, according to its own inherent logic, leads to capitalist development, this is no less than saying that the prevailing capitalist system, with all of its illness and injustice, is the best of all possible worlds that we can have.  Thus, the question--can a socialist planned economy work--which has so much social and political implications, is certainly much more than a technical problem.  In its essence, it is more a “socio-historic” problem than a technical problem.  Therefore, if the question is to be answered, it must not be answered simply in a “technical” way, but has to be answered socially and historically.


Related to this question, is the question why the socialist revolutions failed in the former Soviet Union, China, and Eastern Europe.  We are told that the 20th century socialist revolutions failed because the socialist planned economies had failed.  And their failure suggests that the socialist planned economy cannot work.  It is true that the economic system of the former socialist countries failed to survive.  It is also true that their economies were more or less “socialist” planned economies.  But these facts by themselves do not tell us why the socialist revolutions failed and the former socialist economies failed to survive.  Nor can we draw any conclusion simply from these facts on whether the socialist planned economy can work or not.  Indeed to say that the economic performance of the former socialist countries was a sheer failure simply contradicts historical fact.  According to a latest study on the international comparison of income and wealth (Maddison, 1995), in which the economic performance of the former socialist countries could only be underestimated, from 1950-1980, the GDP per capita in Eastern Europe (including the Soviet Union) had increased by 138 percent.  In the same period it had increased in China by the same degree.  This means that per capita income in the former socialist countries had grown at a rate of doubling for every quarter of century.  While this is by no means a miraculous speed, it is anything but an economic failure.  By comparison, in the same period, the GDP per capita for all other countries in the world had increased by 108 percent.  Also in the same period, the GDP per capita of South European and Latin American countries which had roughly the same level of development as Eastern Europe in 1950 had in average increased by 135 percent, and that of Asian and African countries which had similar level of development to that of China in 1950 had in average increased by 112 percent (see TABLE 7.1).  How can we maintain that an economic system that had in average made at least no less rapid economic development than the capitalist system does not work while arguing that the capitalist system is the most efficient and rational economic system in this world? 

TABLE 7.1

Index of GDP per Capita, 1950-1989

------------------------------------------------------------------------------------------------------------------





1950  1960  1970  1980  1989    Average Annual Growth Rates(%)

                                                                                                     1950-1980           1950-1989

-----------------------------------------------------------------------------------------------------------------------

1950 = 100:

Eastern Europe                       100    141    198    238    256              2.93                     2.44

China                                      100    143    178    238      /                 2.93                        /

All Other Countries

in the World                           100    128    174    208    227              2.47                     2.13

in which:

Southern Europe and

Latin America                         100    128    178    235    233              2.88                     2.19

Asia, Africa, and Oceania*      100    125    166    212    248              2.53                     2.35

Southern Europe and Latin America = 100:

Eastern Europe                       112    123    124    114    123

Asia, Africa, and Oceania* = 100:

China                                        80      91      85      90      /

-----------------------------------------------------------------------------------------------------------------------

*Including all Asian, African, and Oceanian countries except China, Japan, Australia, and New Zealand.

Source: Calculated on the data from Table A-3(a), A-3(e), B-10(a), B-10(e), F-5, F-6, F-7 in Maddison (1995).


If the economic system of the former socialist countries did work, and had made no less respectable economic performance than the capitalist system, the question whether the socialist planned economy can work has immediately got a different nature.  It seems that the problem does not really lie in the lack of a technical model that can work in the real world.  History has provided one as we have seen in the former socialist countries, though by no means a perfect one.  Moreover it seems that the entire academic economics world, according to its presently dominant way of thinking, simply cannot understand and explain the relative success of the former socialist economies.  Consequently nor can they really understand the subsequent failure of these economies.  On the other hand, if we use some Marxist intuition, it is not difficult to see that the problem cannot be solved simply in a “technical” or “economic” way, and it cannot be really understood without analyzing the historically changing social relations in the former socialist countries.


A Critique of Market Socialism

While for Marx market is by no means identical with capitalism, he did maintain that market relations prevail only in capitalist society.
 In fact, in Marx's opinion, the embryo of all elements of capitalist alienation can be found in the most “pure” market economy--simple commodity production. The very fact that under the market system, social productive forces appear to people "not as their own united power, but as an alien force existing outside them, of the origin and goal of which they are ignorant, which they thus cannot control..." (Marx, 1978a, 161) implies the possibility for the "division of labor" to evolve into "the division of capital and labor", i.e., the separation of labor from means of production. Therefore, a crucial dilemma of market socialism is how one can remove or at least effectively check market's inherent tendency to evolve into capitalism without substantially weakening the economic mechanism upon which the development of productive forces relies in the context of market system. To prevent a market socialist society from evolving into capitalism, there are mainly three methods: (1)forbidding the buying and selling of capital and labor; (2)levying progressive taxes on income and wealth to restrict social inequality within certain limit; and (3)state ownership of all or most means of production. 

Forbidding the Buying and Selling of Capital and Labor

Any modern economic system that is able to work must be capable of constantly reallocating social labor (live labor and materialized labor, i.e., in capitalist terms, labor and capital) so that supply and demand are kept in balance in each branch of production. Under the market system, however, except when means of production are owned by the state, as will be discussed below, the only way in which social labor can be transferred from one branch of production to another is by buying and selling capital and labor. Thus, how can a market economy work if buying and selling capital and labor has been forbidden?

Levying Progressive Taxes on Income and Wealth to Restrict Social Inequality within Certain Limit

In this case, buying and selling capital and labor is allowed. In a market economy, however, one makes investment only to make profit, and one can sell his or her labor to others only when it produces profit for others. Thus, under a market economy, for buying and selling labor to work, the conditions are virtually the same as that in a capitalist society. That is, a certain level of profit rate must be secured to encourage investment, and the social welfare system must not give the unemployed population so much security that they are not willing to sell their labor power at a “reasonable” wage rate that allows investors to make profit. In this case, it is difficult to see how progressive taxes under market socialism can play a significantly different role than under capitalism. If it can not, then how can it effectively prevent market socialism from turning into capitalism?

State Ownership of All or Most Means of Production

If all or most means of production are owned by the state, the problem of reallocating social labor can simply be solved by state investment, and thus the problem of buying and selling capital and labor is avoided. Under the state ownership, enterprises can be run by either state-appointed managers
 or workers' collectivities.
 In both cases, as Brus and Laski (1989) argued, this model is faced with the principal-agent problem--while state-appointed managers or workers' collectivities are entrusted by the state to run enterprises, if enterprises fail, who bears the responsibility for the loss of the state property? There is a solution to the problem. If under socialism, the interest of the society is no longer at odds with the common interest of working people, then why do not workers make responsible use of the state property if they know this will improve their common interest? We will make detail discussions on this point below. Here let us simply point out that for people to make responsible use of social property, it presupposes the production for society. How can people make responsible use of socially owned means of production when they produce for private appropriation and when the production is based on antagonistic competition between private producers?


John E.Roemer (1994), on the other hand, tried to solve the dilemma of market socialism by making it more like capitalism. In his "coupon socialism", every citizen is given a certain amount of coupons. The total value of coupons is equal to the total value of means of production in the society. People can use their coupons to buy corporation shares. But they are not allowed to exchange coupons for money, and after their death their coupons must be returned to the society to be equally distributed among all citizens. "Coupon socialist" enterprises are believed to be able to run efficiently for they run exactly like capitalist corporations, based on wage labor and pursuing maximum profit. It is supposed that social polarization could be prevented by forbidding people from exchanging money for coupons. However, the corporations, the shares of which people use their coupons to buy, may fail in competition. If some corporations fail, then some people would lose their coupons, while some others, who own the corporations that take over the failed corporations, would have more coupons. Thus, forbidding the exchange between money and coupons by itself cannot prevent social polarization, even if it would work. How about another check against the tendency of social polarization--coupons cannot be inherited and must be returned to society after the death of coupons' owners to be equally distributed among all social members? First, capitalist economic efficiency is based on its ability to impose capitalist work discipline on workers. Capitalist enterprises are able to impose this discipline only because workers who have lost any access to means of production have to sell their labor power. While "coupon socialist" enterprises run exactly like capitalist enterprises, workers in "coupon socialism" are guaranteed some access to means of production. For example, unemployed workers can use their coupons to buy a company to employ themselves. Then, how can "coupon socialist" enterprises impose capitalist-style work discipline on workers? If it cannot, how can it work? Second, if the only thing that prevents "coupon socialism" from evolving into capitalism is simply an article of law that denies the right to inherit coupons, why cannot the rich minority who have controlled the most of the coupons, use their economic power to influence the legislation process, abolishing this article. Furthermore, if coupons cannot be inherited, why do coupon owners make responsible use of their coupons in their late years? What prevent them from making over-risky and irrational investments? "Coupon socialism" cannot escape the dilemma of market socialism, though it is almost indistinguishable from capitalism.

The Information Problem, the Motivation Problem, and the Socialist Social Relations

According to bourgeois economists and market socialists the socialist planned economy cannot work because it is not able to solve the information problem.  What is the information problem?  For any modern economy to work, it must be able to collect and process enormous amount of information.  In a market economy, this enormous amount of information is dealt with simultaneously by millions of individual producers.  It is argued that if a market economy is to be replaced by a planned economy, the central planning authority must have the ability to collect and process this enormous amount of information which is previously collected and processed by millions of individual producers.  The problem is not only with the “calculating” ability of the central planning authority.  More importantly a large part of economic information exists in a fragmented and disperse way and can be collected and utilized only if it is simultaneously dealt with by large number of individuals.  Unable to collect and utilize a large part of the economic information, the central planning authority cannot make rational economic calculations, and the planned economy thus cannot work.


Before we analyze the information problem, let us first explain what is a planned economy.  A planned economy is not an economy where everything is planned or everything is determined by the central planning authority.  A planned economy is an economy in which all (or most) of the means of production are socially owned and all (or most) of the social products are directly produced for social needs rather than for exchange value and private appropriation.  Given social property and the direct production for social needs, in a planned economy, it is possible for the producers to actively cooperate with one another and make use of all available techniques to coordinate their economic activities with different levels of economic planning.


If this is the case, why cannot the planned economy solve the information problem?  If the central planning authority, or the highest level of producers’ association, is not able to handle all relevant economic information.  It can simply deal with the information that it is able to collect and process and let lower levels of producers’ associations to deal with other information, while balancing against the possible disadvantages of lowering the level of coordination.  For the lower levels of producers’ associations, they can make lower levels of economic decisions based on the information available to them, and leave the economic problems they are not able to handle to the producers’ associations at lower levels or to producers--workers’ collectivities.  And large number of lower levels of producers’ associations and workers’ collectivities, just like large number of enterprises in the market economy, are able to deal with enormous amount of fragmented and disperse economic information.  In this way, a planned economy is able to collect and process at least no less information than a market economy.


But the planned economy provides a superior way to utilize economic information.  The modern socialized production objectively requires cooperation and coordination between many different producers.  But in a market economy where private producers make economic decisions independently and separately, there is no ex ante coordination of economic activities and the coordination is realized afterwards through economic crises involving great losses of productive forces.
  On the other hand, in a planned economy, as far as the relevant information is available, it is possible to coordinate the economic activities of many different producers under unified economic planning, and thus avoid or reduce the waste of economic resources associated with the lack of ex ante coordination.  This certainly does not mean that under a planned economy, the central planning authority is able to plan everything.  But it does mean that with a planned economy, society will be able to make use of all available techniques to realize as much economic coordination as possible, while balancing against the cost of collecting and processing information.  This provides the potential to greatly improve the overall rationality of the economy, the potential that a market economy is unable to exploit.  Thus, a planned economy is able to not only handle as much information as a market economy, but also utilize the available information in a much more rational way than a market economy.


However, the problem is not yet solved.  Bourgeois economists and market socialists ask: why do the lower levels of producers’ associations and workers’ collectivities actively collect economic information and use it in a economically rational way, what is the motivation for them to do so?  This is the motivation problem.  Apparently, the information problem cannot be really solved if we are unable to solve the motivation problem.


Under a socialist planned economy, all producers directly produce for society, and the total social products are distributed to satisfy people’s material and spiritual needs according to democratically determined rules.  This raises a question: if in a socialist society, it is from the “social interest”--the total social products--that derive people’s individual material and spiritual interests, why cannot the social interest serve as an effective motivation for people, who pursue their individual material and spiritual interests, to pursue economic rationality, that is, to actively collect economic information and make rational use of it?


Why is the socialist planned economy based on the production for the social interest?  While the modern socialized production objectively requires cooperation and coordination between many different producers, in a market economy where every producer pursues his or her own interest, they are motivated to compete and struggle against rather than cooperate with one another.  The motivation provided by the market is thus against the logic of the modern socialized production.  This problem can be solved only if producers directly produce for the interest of society rather than private appropriation.  Thus, under the modern socialized production, the production for the social interest is an economically much more rational way for people to pursue their material and spiritual interests.  In this sense, the social interest is by itself a real material interest, as Marx (1978, 160) said: “this common interest does not exist merely in the imagination, as the ‘general interest,’ but first of all in reality, as the mutual interdependence of the individuals among whom the labour is divided.”  In Grundrisse Marx (1971, 65) also argued that under the modern socialized production, “private interest is itself already a socially determined interest, which can only be achieved within the conditions established by society and through the means that society affords.”


If under the modern socialized production, the social interest is by itself a real material interest, and is the precondition for the realization of all kinds of individual interests, why do not people work and produce for the social interest, and why cannot the social interest be an effective motivation for people to pursue economic rationality?


For bourgeois economists and market socialists this is certainly not the end of the debate.  In their opinion, the production for the social interest will fail due to the “free rider” problem.  That is, for any production based on social or collective property, since an individual’s well-being depends not directly on the particular effort of his or her own effort, but on the combined effort of all the workers in the collectivity or society, there is no incentive for any particular individual to work effectively and rationally.  But the logic of the “free rider” argument is self-defeating.  It is exactly because an individual’s well being depends not on his or her own effort, but on the combined effort of all the workers in the collectivity or society, for individuals to improve their well-being, the proper strategy is a strategy based not on individual choice, but on collective choice.  The question is not for any particular individual what is the best strategy for him or her to improve his or her own interest, for whether his or her strategy works depends on the behavior of other individuals, but for all the workers in the collectivity or society, what is the best strategy for them to improve their combined interest.  Apparently, if everyone adopts the “free rider” strategy, which is supposed to be the individually optimal strategy, everyone will suffer.  The “free rider” strategy is thus against the interest of individuals.  If this is the case, why do people who are supposed to be rational beings pursuing their individual interests, adopt the “free rider” strategy rather than a collectively or socially optimal strategy?


The capitalist market system is supposed to be freed from the “free rider” problem.  Of course, the capitalist system provides effective motivation for the capitalists to pursue their private profits.  But what motivation does the capitalist system provide to the workers who have no control over the production and are exploited and oppressed by the capitalists?  What is the motivation for the workers who actually carry out the production, to actively collect economic information and make rational use of it?  Without effective motivation, all the workers in the capitalist economy are potential “free riders” and for the capitalist economy to work, a great deal of “transaction cost” has to be paid to deal with the “free rider” problem.  For example, a significant part of the social labor force has to be unemployed to exercise competitive pressure on the employed workers who otherwise will be too “lazy.”  Moreover, a significant part of the employed workers must serve as supervisory workers to enforce labor discipline rather than participate in production.


This suggests that the “free rider” problem, rather than being associated with collective or social property, is actually rooted in the oppressive and exploitative social relations.  Being oppressed and exploited, working people do not have incentive to pursue economic rationality and to be “free riders” provides a rational choice for them to improve their living conditions.  If this is the case, the socialist system, by abolishing all kinds of oppression and exploitation, certainly provides a much better way than the capitalist system to solve the “free rider” problem.


For the same reason, the question whether people will work for the social interest cannot be correctly answered unless we first consider what kind of social relations is under concern.  Under the oppressive society, the interest of the society is not more than the interest of the oppressor class.  In this case, working people certainly have no reason to work for the so called “social interest.”  On the other hand, in a socialist society where working people have control over social and economic power, and the interest of the society is not more than the common interest of working people, why do not working people work for the social interest, which is also their own interest?


The whole argument now boils down to the following points: is it true that in a socialist society, to work for the social interest is in the interest of working people?  If yes, why do not working people work for the social interest in a socialist society, and therefore, why cannot the social interest be an effective motivation for working people to pursue economic rationality?  The anwers to these questions are quite obvious.


A question is thus raised:  how can the question whether a socialist planned economy can provide effective motivation for people to pursue economic rationality become a question in the first place, given the obvious fact that under the modern socialized production the most rational way for people to realize their material and spiritual interests is to produce directly for society, and that under the socialist social relations, the interest of society is no longer at odds with the interest of working people?


On this question the Marxist point of view starts from a self-evident fact that people’s material and spiritual needs provide the ultimate motivation for productive activities and the pursuit of economic rationality throughout the entire human history.  The establishment of the socialist social relations certainly will not abolish this ultimate motivation.  On the contrary, by abolishing all kinds of oppression and exploitation, the socialist society opens the way for the majority people to work and produce for the interest of their own rather than that of the oppressors and exploiters.  From this point of view, the socialist economic system certainly provides a much stronger motivation for the majority people to pursue economic rationality than the capitalist system and any other oppressive systems, and whether a socialist economy can provide effective motivation for people to pursue economic rationality is simply out of question.


On the other hand, bourgeois economists and market socialists start from the assumption that people pursue economic rationality only when they work and produce for their private interests.  It is from this assumption that the question derives--how can a society which is based on the production for society rather than private appropriation provides effective motivation for people to pursue economic rationality?  But if people pursue economic rationality because they want to realize their material and spiritual interests, why does it matter that these interests take the form of the social interest or their private interests, as long as these interests are indeed their own interests?  The goods and services produced directly for society certainly provide no less satisfaction of people’s material and spirtitual needs than the goods and services produced for private appropriation.  Thus, unlike Marxist point of departure, the point of departure of bourgeois economists and market socialists is not a self-evident fact, but a problematic assumption that cannot hold water without being proved.  However, rather than providing scientific proofs for their assumption,  bourgeois economists and market socialists treat their assumption as if it were indeed a self-evident fact, take it for granted, and confidently draw all of their arguments from this assumption, including the argument that the socialist planned economy cannot provide effective economic motivation and thus cannot work.


It should be pointed out that not few Marxists have failed to challenge bourgeois economists and market socialists on this point.  Consequently their efforts to defend the socialist planned economy (usually by inventing various technical models) have always ended in vain.  For if we accept the point of departure of bourgeois economists and market socialists and agree that people can only be motivated by their private interests, the only way to solve the motivation problem is to set up various “supervisory mechnisms.”  But for the planning authority to be able to exercise effective supervision, it must be able to collect and process enough relevant information and as we know, the planning authority is not able to do this by itself, and instead, it has to rely upon producers and other institutions who are under its supervision to provide the necessary information, who certainly have an incentive to distort the information.  In this case, the motivation problem simply has no way to be solved.    


On the other hand, if we go beyond the narrow scope of bourgeois economists and market socialists, we will immediately find that what makes the motivation problem a problem is not more than the following fact: by abolishing private property and the market system, the socialist system also abolishes the economic motivation based on the pursuit of private appropriation.  However, it is exactly by doing so, the socialist system also abolishes the oppression and exploitation of the majority people, and thus provides a much stronger motivation for the majority people to pursue economic rationality than the oppressive systems.  Moreover, by establishing society’s control over production, and by producing directly for the social interest, the socialist system opens the way for people to actively cooperate with each other and to pursue the social interest, allowing making full use of the great productive potential of the modern socialized production.  Thus, on the one hand, the establishment of the socialist social relations makes it impossible for the motivatin problem to be solved in a way compatible with the capitalist or any other forms of oppression and exploitation, and on the other hand, it is exactly for this reason that it opens the possibility for the problem to be solved in a socialist way, in a way consistent with the liberation and free development of the majority people.  The motivation problem is thus solved.  And with the motivation problem solved, there is no reason why the information problem cannot be solved.  With both the information problem and the motivation problem solved, there is no reason why the socialist planned economy cannot work.  


Thus, the problem has been logically solved.  But for the logic to work, the socialist social relations must be established.  However, the establishment of the socialist social relations depends on real historical struggles.  It is these struggles rather than academic arguments that will provide the real historical solution to the question whether a socialist planned economy can work.

A Note on Alec Nove’s Critique of the Socialist Planned Economy

In the opinion of Alec Nove, however, the establishment of the socialist social relations does not make much difference. The division between the rulers and the ruled is inevitable in every society. In socialist society, people will still work for their private interests rather than the social interest, not really different from that in capitalist society. 

It is sometimes argued by Marxist `fundamentalists' that the basic problem [of Soviet planning] lie in alienation, in the conflicts of interest between workers, management and centre; all would be well if they all identified with a common interest...Yet this line of thought contains or implies several fallacies...[It is not appreciated] that the marketless planning model is of necessity centralized (how can a purely local body decide what society needs and how best to provide it?), and it is precisely the vast and complex scale of operations of central planning which is a major cause of this very alienation. `Unless one is prepared to accept that the structure of regulation in interconnected production is objectively hierarchical, then the whole problem of socialist democracy can only be raised in an agitational way', wrote Baran, without, unfortunately, drawing from this the conclusions that suggest themselves. Finally, it is implied that a society can or could exist in which there would be no conflict between sectors, and between sectors and centre, not to mention individuals, over the allocation of resources. This essentially utopian part of the Marxist tradition rests, and can only rest, on a vision of abundance. There must surely be conflicts, as any materialist would here to admit, unless there is plenty for all, i.e. when the concept of opportunity-cost, of choice between mutually exclusive alternatives, loses its meaning (Nove, 1980).


First, it is true that economic planning, and in fact, any administration of public affairs, is "of necessity centralized. And in the sense that these affairs are "public", that is, they go beyond the narrow individual or local visions, they can be regarded as "objectively hierarchical". But how is this related to "alienation", to the division of society into the ruling class and the oppressed class? Any society must have some people managing its public affairs. This, by itself, tells us nothing why society is divided into classes. For a group of people to become a ruling class, it is not only necessary for the public affairs to be managed by them, but also necessary for the management of the public affairs to be exclusively controlled by them, allowing them to systematically make use of their positions to serve their private interests rather than the public interest. This is possible, as is well known by Marxists, as long as there is the division of mental labor and physical labor, which excludes the majority of the population from participating in scientific and artistic activities, and from participating in the management of public affairs. The socialist society, on the other hand, by rationally making use of modern productive forces, will be able to gradually abolish the division of mental labor and physical labor, eliminating the material foundation of the class oppression. 


Second, Nove argued that "it is precisely the vast and complex scale of operations of central planning which is a major cause of this alienation." But the "vast and complex scale of operations", does not tell us how these operations are organized. In class societies, the administration of public affairs must be kept out of the control of people. As a result, it is organized as a large, complex bureaucratic structure that can make "vast and complex scale of operations" without involving people's participation. In a socialist society, on the other hand, there is no need to keep the public affairs out of people's control. Instead, the socialist management of public affairs is based on the extensive participation of ordinary people. Consequently, there is no need to set up a large, complex bureaucratic structure. How will "the vast and complex scale of operations" be organized in a socialist society? As Marx told us, they will be organized by "free association of individuals". In The Civil War in France, Marx, based on the experience of Paris Commune, made a concrete explanation of how the "free association of individuals" would work.

The Paris Commune was, of course, to serve a model to all the great industrial centres of France. The communal regime once established in Paris and the secondary centres, the old centralized Government would in the provinces, too, have to give way to the self-government of the producers. In a rough sketch of national organization which the commune had no time to develop, it states clearly that the commune was to be the political form of even the smallest country hamlet...The rural communes of every district were to administer their common affairs by an assembly of delegates in the central town, and these district assemblies were again to send deputies to the National Delegation in Paris, each delegate to be at any time revocable and bound by the mandat imperatif (formal instructions) of his constituents. The few but important functions which still would remain for a central government were not to be suppressed...but were to be discharged by communal, and therefore strictly responsible agents (Marx, 1978b, 632).


Thus, socialist society will be based on the extensive participation of ordinary people in public affairs. As a result, the problem of "the vast and complex scale of operations" can simply be solved by a kind of division of labor. All local affairs will be subjected to the direct self-government of local people. A dozen of such localities will freely form an association in which an administration which is composed of delegates of these localities, who are subjected to the recall and formal instructions of their constituents, will be set up to administer their common affairs. A dozen of such associations of localities will in turn freely form a larger association organized in the same way to administer their common affairs at a higher level...so and so forth. As a result, every level of administration (including the central government) will be left with "few but important functions" corresponding to its level rather than "the vast and complex scale of operations" and thus every level of administration can be effectively controlled by the people whose common affairs it administers. 


Nove, however, told us that even if in a socialist society, people could have effective control over their public affairs, it would still be impossible for people to work for the social interest. For people's individual interests are always in conflict with one another "unless there is plenty for all, i.e. when the concept of opportunity-cost, of choice between mutually exclusive alternatives, loses its meaning." This "vision of abundance" was called by Nove as an "utopian part of the Marxist tradition". There can be no more vulgar distortion of Marxism. Socialism must be based on highly developed productive forces (which are prepared by capitalist development). Only with highly developed productive forces, is it possible to substantially reduce general working time, preparing the material condition for working people to freely develop their physical and mental potential and to participate in administering public affairs. But this has nothing to do with that "the concept of opportunity-cost...loses its meaning" or the so called "abundance" as understood by Nove.
 Abstractly speaking, people's individual interests are always in conflict with one another. What is consumed by one cannot be consumed by the other. However, before anything can be consumed, it must be produced. But under modern conditions, is it true that virtually everything has to be produced by more or less social cooperation? If this is the case, then is it true that modern production will be most productive when people actively cooperate with rather than compete against one another? If this is the case, is it true that people's individual interests will be best satisfied if they cooperatively produce for the social interest rather than compete with one another for their private interests? If all of these are true, then why do not people who are supposed to be rational beings pursuing the maximization of their individual interests work for the social interest?

On Innovation

While the innovation problem is in essence not more than the information problem and the motivation problem, it deserves particular consideration due to its importance. In fact, Roemer (1994, 37-45) argued that it was the innovation problem that had played a decisive role in the failure of centrally planned economies. Why cannot the planned economy make enough innovation? In the first place, there is the motivation problem--why do people innovate? In a capitalist society, how is the motivation problem solved? On the one hand, capitalists innovate in order to acquire super profit. On the other hand, under the pressure of competition, capitalists have to innovate to avoid failure. Thus, in a capitalist society, there are both "positive" and "negative" incentives for capitalist to innovate.


To say that in a capitalist society, capitalists have incentives to innovate in no way means that capitalism is a system that is most conducive to social innovation. First, due to the antagonistic nature of the capitalist production, capitalist technological progress, rather than bringing benefit to workers, usually intensifies their sufferings and alienation. Thus, while capitalists do have incentives to innovate, their projects of innovations are often met with the resistance of workers, and there is no way for capitalists to introduce innovation without first overcoming workers' resistance. Second, while capitalists do have incentives to innovate, it is exactly the same incentives that prevents the socially rational use of innovation. From society's point of view, technological knowledge can be most rationally used only if all social members have free access to the knowledge. In the capitalist society, however, capitalists make innovation to serve their private interests. Thus, they have incentives to innovate exactly because other people do not have free access to their innovation which is regarded as their private property. Otherwise, how can capitalists make super profit? Third, to say that capitalists have incentives to innovate, tells nothing about what kind of innovation capitalists are interested in. Capitalists innovate for private profits rather than social interests. Capitalists do not have incentives to make socially useful innovation if it does not bring about profit, e.g. the innovation that improves ecological conditions, or the innovation that can make labor process less alienating and more interesting. On the other hand, capitalists do have incentives to make the innovation that is socially harmful but can bring about profit, e.g. the transportation system based on private cars, which is perhaps the most expensive as well as the most ecologically harmful modern transportation system, is one of the most important innovations of the 20th century capitalism. Fourth, for a society to make full use of its innovative potential, it must allow all social members to freely develop their mental potential and participate in all kinds of innovation. But in the capitalist society the majority of the population--working people have no chance to develop their mental potential and participate in innovation due to the capitalist exploitation and oppression. Instead, innovation is restricted to be the affairs of a small group of "entrepreneurs”. Thus, under capitalism, the greatest part of the society's innovative potential is wasted.


How can a socialist planned economy solve the motivation problem? In Roemer's opinion, "without the competition that is provided by markets--both domestic and international--no business enterprise is forced to innovate, and without the motivation of competition, innovation, at least at the rate that market economies engender, does not occur (Roemer, 1994, 44).” But does the society need innovation? If it does, why must it be forced to innovate? Why cannot this social need itself be a motivation for the society to innovate? Of course, by abolishing the capitalist economic system, the socialist planned economy also abolishes the capitalist motivation for innovation. But by abolishing the capitalist motivation for innovation--the pursuit of private profit, the socialist planned economy also abolishes capitalist motivation to exploit and oppress working people, liberating the greatest innovative potential in the society; by abolishing the capitalist motivation for innovation, the socialist planned economy also abolishes those innovations that, while bringing profit to capitalists, will not do any good to society, and  opens the way to all socially useful innovations; by abolishing the capitalist motivation for innovation, the socialist planned economy also abolishes the capitalist motivation to prevent the free access of all social members to all technological knowledge. While the socialist planned economy abolishes the capitalist motivation for innovation, by establishing the social ownership of means of production, and by abolishing the class oppression, it also provides the socialist motivation for innovation. If in a socialist society, people will self-consciously work for the social interest, and innovation does bring about social benefit, why do not people actively make innovation? Moreover, in a socialist society, it is not a small group of "entrepreneurs” but all working people who will actively innovate.


The motivation problem, however, is not the only problem that, in the opinion of bourgeois economists and market socialists, leads to the failure of the planned economy in the field of innovation. There is also the principal-agent problem (Brus and Laski, 1989, 132-149; Stiglitz, 1994). Innovation is by nature risky and associated with many uncertainties. In a planned economy, anyone who makes innovation does not risk his own property. On the other hand, it is exactly because there are many uncertainties associated with the innovation, it is virtually impossible for the planning authority to distinguish objectively unavoidable losses from those losses brought about by bad decision-making. Thus, it is not able to use punishment to effectively prevent bad mistakes. This argument presupposes that in the planned economy people will not self-consciously make responsible use of social resources invested for innovation for there is not their own property at stake. But if in a socialist society, the interest of the society is not more than the common interest of all individuals, and thus social property is not more than the material condition for people to promote their individual interests, why do not people make responsible use of social property? 


Brus and Laski (1989, 142), however, argued that "even with the appropriate socialist motivation the problem of entrepreneurship may remain unresolvable without anchoring responsibility for losses in personal stakes...it is not so much the degree of personal competence, dedication, motivation, and taste for innovations, as the conditions forcing a principal to weigh the risks against responsibilities in a real world of uncertainty." Brus and Laski seemed to argue that "anchoring responsibility for losses in personal stakes", as the condition "forcing a principal to weigh the risks against responsibilities", is an indispensable condition for the rational decision-making on risky investment. 


What does risky investment (innovation is a kind of risky investment) mean? While in all cases rational investment means making full use of available knowledge to make maximum output out of minimum input, "risk" or "uncertainty" means that certain knowledge is not available. How can one make rational decision if certain knowledge is not available? In this case, to make rational decision is not more than to make a good guess. Apparently, whether one can make a good guess does not depend at all on whether his or her personal property is at stake (this, on the contrary, will lead him to make decisions on "emotional" basis rather than rational basis), but on one's experience, good intuition, the knowledge that one can make use of but cannot tell, etc. In this respect, a socialist planned economy is most likely to ensure that the responsibilities of decision-making on risky investment are entrusted to those who are most likely to make a good guess.


It is in the capitalist society where risky investment is made of private property, the ability of which to make risky investment, is limited by its scale, that investors have to weigh the risk against their property. This, rather than being indispensable for the rational decision-making on risky investment, set a limit to the possibility of applying economically rational principles in risky investment. The socialist planned economy, by abolishing capitalist private property, also abolishes this limit. Of course, in a socialist planned economy, some risky projects of great importance should still be subjected to society's consideration which weighs the risks against possible losses of social property. In this case, the fact that these projects are of great importance itself means that it will not be difficult for the planning authority to evaluate the impact on society if these projects fail. 

The Experience of Revolutionary China

Will people work for the social interest? Can the socialist economy work? In this section, I will focus on the experience of revolutionary China to see how Chinese revolutionary socialists and the Chinese working people had made practical struggles to build socialist social relations and the socialist planned economy. What achievements had they made in their struggles? Why did their struggles fail in the end? What lessons can we draw from their failure?

Bureaucratization, Revolutionary Politics, and Economic Planning

When Chinese Communist Party came to power in 1949, what they inherited from Kuomintang regime was an extremely backward, "semi-colonial, semi-feudal" economy with very limited modern industry. Thus, the new revolutionary regime was immediately faced with the task to restore and develop productive forces as soon as possible. The question is how to develop productive forces. By abolishing capitalist ownership of means of production, and by concentrating most modern means of production in the hands of the state, it was possible for the revolutionary regime to pursue the rational allocation of productive resources in the society-wide by undertaking economic planning. 


Socialist economic planning, as we have seen, must be based on "the self-government of producers", which requires extensive participation of ordinary working people in economic management, and thus presupposes the elimination of the division of physical labor and mental labor. China, however, was not yet prepared in this respect for socialist economic planning. It was estimated that in Shanghai, the most advanced industrial city in China, immediately after it was taken over by communists, the illiteracy rate of all employees (including clerks and white collar workers) was 46 percent, and that of blue-collar workers was 80 percent (Andors, 1977, 48). This had some important consequences. First, without "the self-government of producers", large, complex bureaucratic structures were set up in response to the expansion of economic planning, and the state and party administration were quickly bureaucratized. Second, to administer these bureaucratic structures, many people who came from bourgeois or intellectual families but had the knowledge and expertise indispensable for economic management were recruited into the party. These people, however, joined the party not because they had revolutionary ideals, but because the party was an access to power. Third, bureaucratic planning relied upon material incentives to motivate cadres and workers. After the wage reform in 1956, the egalitarian "supply system" practiced in the era of revolutionary war was replaced by hierarchical wage and bonus system. Thus, in late 1950s, a bureaucratic class enjoying certain material privileges gradually took shape. 


On the other hand, it is very wrong to regard China's economic planning in this period simply as bureaucratic planning. While the bureaucratic class was taking shape, there were still millions of revolutionary cadres working in the state and party administration.
 As long as a large part of the regime's power remained in the hands of these revolutionary cadres, the regime would remain largely a revolutionary socialist regime. This would inevitably have a decisive impact on the performance of economic planning. From 1953-1957, that is, in the period of first five-year plan, China's national income grew at an average annual rate of 8.9 percent, with industry and agriculture growing annually at 18 percent and 4.5 percent accordingly. Western estimation gave a bit lower rates. Bergerson estimated that the growth rate of China's GDP in this period was 8.3 percent, and Chao estimated that China's industrial growth rate in this period was 14.4 percent, still placing China one of the countries that had the highest industrial growth rate in the world (Riskin, 1987, 58; Chao, 1960).


How could the revolutionary nature of the political power influence the performance of economic planning? As we have known, for a planned economy to work rationally, it must be able to solve the information problem and the motivation problem. Both problems can be solved if people will self-consciously work for the social interest. If the political power was to a large extent in the hands of revolutionary socialists, then the interest of the society would be in large measure consistent with the interest of working people, thus providing certain objective foundation for people to work for the social interest. On the other hand, if there were millions of revolutionary cadres and workers "who faithfully [carry] out party policy yet does so with independence and initiative" (see footnote 27), many practical problems in planned economy requiring decentralized initiatives could be easily solved. Moreover, these revolutionary cadres and workers would act as powerful models inspiring many other people to work for the social interest. All of these would remain the case only if the political power remained in large measure a revolutionary socialist power. This, however, as we have seen, was threatened by the rising bureaucratic class. Whether the revolutionary regime was able to resist the tendency of bureaucratization and retain its revolutionary nature would depend on practical struggles.

Maoist Political Economy and the Great Leap Forward

In late 1950s, Mao began to pay attention to the contradictions of bureaucratic planning. In his critique of Stalinist political economy, he argued that:

The book says that material incentive to labor "spurs increases in production" and "is one of the decisive factors in stimulating the development of production"...By making material incentive a onesided absolute the text fails to give due importance to raising consciousness, and can not explain why there are differences among the labor of people in the same pay scale. For example, in scale no.5, one group may carry on very well, another rather poorly, and a third tolerably well on the whole. Why, with similar material incentive, such differences occur is inexplicable according to their way of reasoning. Even if the importance of material incentive is recognized, it is never the sole principle. There is always another principle, namely, spiritual inspiration from political ideology. And, while we are on the subject, material incentive can not simply be discussed as individual interest. There is also the collective interest to which individual interest should be subordinated, long-term interests to which temporary interests should be subordinated, and the interests of the whole to which the partial interests should be subordinated (Mao, 1977b, 83).


In Mao's opinion, bureaucratic planning onesidedly depends on material incentive to motivate people--it does not work. The potential of the socialist planned economy can be fully released only if we are able to raise people's consciousness, and if people will self-consciously work for the social interest rather than their narrow individual interests. Mao was very correct on these points. Yet why does bureaucratic planning fail to raise people's consciousness? Mao said:

In our experience, if cadres do not set aside their pretensions and identify with the workers, the workers will never look on the factory as their own but as the cadres...If manual workers and enterprise leaders are both members of a unified production collective then "why do socialist enterprises have to put `single leadership' into effect rather than leadership under collective guidance" i.e., the system of factory head responsibility under party committee guidance? It is when politics is weakened that there is no choice but to talk about material incentive (Mao, 1977b, 86)


It was very correct for Mao to point out that "It is when politics is weakened that there is no choice but to talk about material incentive". But what was wrong with the "politics"? Mao recognized that for workers to work for the social interest, there must be egalitarian social relations and workers' participation in management. On the other hand, Mao still thought that the problem could be solved by reviving revolutionary spirit in the party and by putting technocrats under the supervision of the communist party which was still regarded as a revolutionary party. 


The ideas of Maoist political economy were put into effect in the Great Leap Forward. First, to solve the problem of bureaucratization, the planning system was substantially decentralized. Second, material incentive was criticized and in many factories, piece-rate wage and bonuses were abolished. Third, workers were encouraged to participate in factory management (Andors, 1977, 68-96).


There were some merits in the efforts of the Great Leap Forward. For example, under bureaucratic planning, material incentive is supposed to encourage people to work for the social interest. In reality, however, there cannot be "perfect" or "scientific" incentive systems. As a result, rather than encouraging people to work for the social interest, material incentive often encourages people to act against the social interest. Say, a plan based on physical output encourages people to maximize cost to maximize output. Obviously, this problem can be solved only if material incentive itself has been abolished. To abolish material incentive, however, presupposes that people will self-consciously work for social interest. This, as has been argued, is possible only if the interest of the society is no longer at odds with the interest of working people. The existence of material incentive, thus, was not the cause of the problem, but the result of real social conditions. That is, a significant part of social power was not in the hands of revolutionaries but in the hands of newly shaped bureaucratic class. The Great Leap Forward, however, tried to solve the problem not by dealing with the cause of the problem--the social power of the bureaucratic class, but by abolishing the result of the problem. Of course, it could not work.

The Cultural Revolution and Its Lessons

After the failure of the Great Leap Forward, Mao recognized that the problem could no longer be solved within existing power structures. In 1965, he thought that a bureaucratic class had already taken shape in post-revolutionary China. "The bureaucratic class is a class in sharp opposition to the working class and the poor and lower-middle peasants. How can these people have become or in the process of becoming bourgeois elements sucking the blood of the workers be properly recognized? These people are the objectives of the struggle, the objectives of the revolution (taken from Meisner, 1986, 271)." While he later retreated from this point, arguing that the objective of the revolution was "those people in position of authority within the party who take the capitalist road", it is clear that for Mao at this time the problem could only be solved by a struggle over political power. In 1966, Mao launched the Cultural Revolution. 


In the opinion of Mao and his comrades, the main target of the Cultural Revolution was "those within the party who are in authority and are taking the capitalist road (CCP, 1968, 395-405).” That is, a large part of social power was no longer in the hands of revolutionaries, but in the hands of "capitalist roaders". The revolutionary force, thus, must struggle with the "capitalist roaders", seizing back power. Mao and his comrades also correctly pointed out that "[i]n the Great Proletarian Cultural Revolution, the only method is for the masses to liberate themselves, and any method of doing things in their stead must not be used (CCP, 1968, 398)." Moreover, the Cultural Revolution would not only overthrow the old bureaucratic power, but also replace it with a new people's power.

[The] cultural revolutionary groups, committees and congresses...are organs of power of the proletarian cultural revolution...It is necessary to institute a system of general elections, like that of the Paris Commune, for electing members to cultural revolutionary groups and committees and delegates to the cultural revolutionary congresses. The lists of candidates should be put forward by the revolutionary masses after full discussion, and the elections should be held after the masses have discussed the lists over and over again. The masses are entitled at any time to criticize members of the cultural revolutionary groups and committees and delegates elected to the cultural revolutionary congresses. If these members or delegates prove incompetence, they can be replaced through election or recalled by the masses after discussion (CCP, 1968, 401).


On the other hand, the Cultural Revolution suffered form serious theoretical and practical weaknesses. Theoretically, Mao and his comrades failed to make a scientific analysis of the post-revolutionary Chinese society. First, rather than pointing out that the whole bureaucratic class was the target of the revolution (though Mao once thought so on the eve of the Cultural Revolution), the Cultural Revolution was targeted at a small group of "capitalist roaders", while "95 percent of the cadres" were still regarded as good or comparatively good. Second, in Mao and his comrades' opinion, what made the Cultural Revolution necessary was that "[a]lthough the bourgeoisie has been overthrown, it is still trying to use the old ideas, culture, customs and habits of the exploiting classes to corrupt the masses, capture their minds and endeavour to stage a come-back. The proletariat must do the exact opposite: it must meet head-on every challenge of the bourgeoisie in the ideological field and use the new ideas, culture, customs and habits of the proletariat to change the mental outlook of the whole of the society (CCP, 1968, 395)." By attributing the emergence of "capitalist roaders" in the party to the influence of bourgeois ideas, Mao and his comrades totally failed to use historical materialism to scientifically explain the rise of the bureaucratic class, and thus were unable to find the correct solution to the problem. On the other hand, while the only correct method of revolution is "for the masses to liberate themselves", as Lenin argued, it is impossible for working people who are oppressed, exploited, and deprived of their right to participate in scientific activities, to reach a scientific understanding of the society completely by themselves. In the post-revolutionary society, this is still the case as long as the division of physical labor and mental labor remains. Thus, masses cannot by themselves make a successful revolution against the bureaucratic class without the leadership of a revolutionary party which is composed of revolutionary intellectuals who are able to provide the scientific analysis of the society. With the old communist party degenerating into bureaucratic apparatus, a new revolutionary party was indispensable for the success of the Cultural Revolution. Without such a party, the Cultural Revolution could not result in any constructive outcomes and could only end in chaos.

Can the Socialist Planned Economy Work?

Bourgeois economists and market socialists argue that the socialist planned economy is not able to solve the information problem and the motivation problem and it is not going to work.  But even according to bourgeois statistics, the former socialist economies had, on per capita basis, developed no less rapid than the capitalist economies.  Moreover, TABLE 7.1 shows that in their early stage, the former socialist economies had clearly demonstrated some superiority over the capitalist economies.  If the socialist planned economy is unable to solve the information problem and the motivation problem, how can the early success of the former socialist economies be explained?


Bourgeois economists and market socialists have made several explanations of the early success of the former socialist planned economies.  First, it is argued that in the early stage of economic development, economic structure is relatively simple and easy to be managed.  After this early stage, however, the economic structure will become more and more complex, making the rational operation of the planned economy more and more difficult.  This argument, however, is not consistent with empirical evidence.  The Chinese economy in the late 1970s might well be less complex than the East German economy in 1950s.  Yet the East German economy in the 1950s worked quite well, while the Chinese planned economy was near to collapse in the late 1970s.  If “growing complexity” cannot explain the later failure of the planned economy in China, obviously, nor can it explain its early success.  On the other hand, "growing complexity" basically refers to growing division of labor, growing number of specific products, and growing interrelations between production units.  That is, it is basically a problem of how to solve "millions of equations."  This problem, by itself, is not difficult to be solved with the aid of modern computers.  The real problem of the Soviet-style central planned economy is not this, but that the planning authority is virtually impossible to collect and make use of the great amount of fragmented information to which only the people on spot have access, e.g. the detail description of the quality or technical functions of certain products.  This kind of problem is virtually as "complex" in the early stage of economic development as in the later stage. 


Secondly, it is argued that in the initial stage of the former socialist economies, economic growth rate was accelerated by mobilizing unutilized resources.  But in the long run, failing to solve the information problem, the motivation problem, and to make technological progress as rapidly as the capitalist economies, after unutilized resources had been used up, the former socialist economies would inevitably fall into economic stagnation.  It is true that making more effective use of unutilized resources contributed a lot to the early economic development of the former socialist economies.  But this is certainly not a proof that these economies were irrational or inefficient.  Moreover, unutilized resources by themselves cannot make economic growth.  To turn unutilized resources into productive resources, there must be other production inputs, and these inputs must be organized and used in a economically rational way.  The workers must know what to produce, how to produce, and how many to produce.  And all of these will be turned into economic growth only if the workers more or less do what they are expected to do.  Thus, to mobilize unutilized resources and to make rapid economic growth out of these resources require exactly the same thing as is required by making efficient use of the resources presently being utilized.  That is, the ability to solve the information problem and the motivation problem.  Thus, the question remains--if the planned economy is not able to solve the information problem and the motivation problem, how can the early economic success of the former socialist countries be explained? 


Thirdly it is argued that the economic growth of the former socialist countries was based on “extensive growth” rather than “intensive growth.”  The “extensive growth” is supported by massive inputs of resources rather than technological progress and thus cannot sustain in the long run.  Is this argument supported by empirical evidence?  TABLE 7.2 shows that from 1950-1973, the arithmetic average of the growth rates of labor productivity for 17 capitalist countries (7 major developed capitalist countries and 10 “middle income” countries) is 4.4 percent, for 10 “middle income” countries is 4.2 percent, and for 6 socialist countries is 4.5 percent.  These figures certainly do not suggest the former socialist economies were inferior to the capitalist economies in the respect of technological progress.

TABLE 7.2

Growth Rates of Labor Productivity (GDP per Hour Worked), Selected Countries, 1950-1973   

------------------------------------------------------------------------------------------------------------------

Capitalist Countries
  Growth Rates (%)

    Socialist Countries
     Growth Rates (%)

------------------------------------------------------------------------------------------------------------------

Argentina                               2.4                                  Bulgaria                                6.1

Brazil                                     3.7                                  Czechoslovakia                     3.4

Canada                                   3.0                                  Hungary                                3.9                Chile                                      2.9                                  Poland                                   3.8

Colombia                               3.3                                  Romania                                6.2

France                                    5.1                                 USSR                                    3.4

Germany                                6.0                                  Arithmetic Average               4.5

Greece                                   6.4

Italy                                       5.8

Japan                                     7.7

Mexico                                  4.0

Peru                                       3.4

Portugal                                 6.0

Spain                                     6.4

United Kingdom                    3.1

United States                         2.7

Venezuela                              3.4

Arithmetic Average                4.4

Arithmetic Average for

“Middle Income” Countries    4.2

------------------------------------------------------------------------------------------------------------------

Source: Maddison (1995, 79-80).


Moreover, the Soviet Union and other former socialist countries had to spend most of their R & D efforts in the military field to meet the military competition against major imperialist powers.  This threw an unproportionately heavy burden on their economies whose absolute scales were much smaller than those of the major imperialist powers.  They also suffered from technological blockade and restriction by major capitalist countries, and thus could not take the full advantage of “later comers” as some capitalist developing countries did.  If this had not been the case, the rate of technological progress in the former socialist countries would certainly have been much higher.


We know that for the socialist planned economy to work, it must be able to solve the information problem and the motivation problem and the two problems can be solved only if the socialist social relations have been established.  The early economic success of the former socialist countries thus cannot be really understood without an analysis of the historically changing social relations in these countries.  While it is true that the post-revolutionary societies in the Soviet Union, China, and Eastern Europe were not genuine socialist societies in the sense that the political and social power were not directly under the control of working people, but actually controlled by a vanguard revolutionary party which is supposed to represent the interest of working people.  Nevertheless, we must not deny that these revolutionary parties, in their early stage, were indeed largely composed of genuine revolutionaries who sincerely pursued socialism and the liberation of working people (this is especially true for pre-Stalinist Soviet Union, China, Cuba, and Yugoslavia).  In this case, it is not surprising that the social regimes that appeared after the revolution must be more or less revolutionary regimes pursuing the political, economic, and social policies by and large in the interest of working people.  Thus, in the early stage of these societies, the interest of society was largely consistent with the interest of working people.  This provided the objective foundation for the working people in these countries to work for the social interest.


It was a historical fact that in those years we saw hundreds of millions of people working not for their private interests, but for the common interest of people, for revolution and socialism, for proletarian internationalism, and for building communism.  How could this important historical fact not have a significant impact on the development of productive forces?  It is this distinct set of social relations that can help to explain the early success of the former socialist economies.


If we consider the whole historical period of revolutionary China, then this period can be divided into two stages. In the first stage which was from 1949 to 1957, the old oppressive and exploitative social order had been overthrown, the political and economic status of working people had been greatly improved, and the new bureaucratic class was only beginning to take shape. In this stage, the socialist Chinese economy developed rapidly, demonstrating a clear superiority over capitalist economies. The second stage which was from 1957 (the year of the “hundreds of flowers” movement and a year before the Great Leap Forward) to late 1970s was characterized by the ascendancy of the bureaucratic class and intensified class struggles, that were climaxed in the Cultural Revolution. Despite the tremendous social turbulence in this stage, the revolutionary socialist force still held a large part of the social power, and consequently, the socialist consciousness of working people continued to play an important role in economic development. As a result, in this stage, the Chinese economy continued to grow at a respectable rate. It was only after the failure of the Cultural Revolution and the rule of the bureaucratic class was thus consolidated, that the socialist planned economy became politically and socially invalid and capitalist marketization became the only “viable” solution to China’s economic problems (the bureaucratic class certainly cannot solve the information problem and the motivation problem by mobilizing working people’s socialist consciousness).


What lessons can we learn from the experience of revolutionary China? First, under a revolutionary socialist regime, the Planned economy did work, and it worked better than most capitalist economies. Then what will be the case if socialist social relations have been fully built up? The answer is self-evident: a socialist planned economy will not only work, but will work much more rationally and efficiently than the capitalist market economy in both social and economic terms. Second, whether a socialist planned economy is viable or not, is first of all, not a theoretical question, but a practical question, depending on the real historical struggle for socialism. After the revolutionary socialist force takes over the political power, the struggle for socialism has not yet ended. Instead, the revolutionary socialist force must apply correct revolutionary theories to educate and mobilize working masses, and to organize them in proper political organizations, like that of Paris Commune, to make active struggle against the tendency of bureaucratization and to secure the revolutionary nature of the new regime.
 In the long run, the revolutionary socialist regime must make a through transformation of the irrational economic structure left over by capitalism so that with the continuous improvement of social labor productivity, the general working time of working people will be gradually reduced to a level that allows all social members to freely develop their physical and mental potential.
 As a result, the division of mental labor and physical labor will be eliminated, that is, the material foundation of class domination and oppression will be done away with. Only then can we say that the struggle for socialism has ended with victory.

�     		On Marx's idea that commodity production prevails only when labor becomes free wage labor, see Cohen (1978,146-202).


�     		This is actually the present system of Chinese state-owned enterprises. In this case, it is not more than a state capitalist system.


�     		This is exactly Schweickart's market socialist model--a combination of social ownership of means of production and workers' self management of independent enterprises in market. See Schweickart (1993).


�     		Roemer (1994, 44) argued that the failure of the former socialist economies was primarily due to their failure to make as rapid technological progress as the capitalist economies, and this problem (or the innovation problem) was a problem independent of the information problem (what he called the principal-agent problem).  But to me, the innovation problem is not more than a particular form of the information problem.  If the central planning authority knows all the relevant information, it certainly can order the producer to make the right innovation with the right input and within the right period of time.  On the other hand, it may be true that since innovation involves more uncertainty and risk, and requires more flexibility, it is especially difficult for the central planning authority to collect the relevant information and to make rational decisions associated with innovation activities and the innovation problem provides one of the most striking examples of the information problem.


�     		In modern capitalist economies, to reduce the market uncertainty which reflects the lack of coordination between private producers, an increasingly large part of the economic resources have been invested by private capitalist companies into various non-productive activities, such as marketing, advertisement, and R & D activities associated with market research and sales promotion.  In modern capitalist societies, this may be no less important a form of economic irrationality than explicit economic crises.  According to Shaikh and Tonak (1994, 110) the rate of nonproduction labor to the total labor in the U.S. had increased from 0.43 in 1948 to 0.64 in 1987, suggesting a great waste of the social labor force.


�     		For example, the ratio of supervisory workers to production workers in the U.S. nonagricultural labor force increased from 13.7 percent in 1948 to 20.8 percent in 1973, and to 22.4 percent in 1979 (Bowles, Gordon, and Weisskopf, 1983, 130).


�     		Rattansi (1982,185) argued that the substantial reduction of general working time was impossible as long as there was "scarcity" which, however, would not disappear so long as "technological innovation and economic growth" do not stop. "[T]he development of productive capacities generates new needs. Thus, while some scarcities are abolished, others are continually engendered...Nevertheless, unless all technological innovation and economic growth stop it is difficult to see how scarcity as such can be abolished, a possibility that appears even more remote in the context of a potential crisis in the world's natural resources." Rattansi had forgotten one important thing, that "new needs" not only include the needs for the material products, but also include the needs for the development of men themselves. In a socialist society, it is completely imaginable that the increase of the productivity of social labor would be partly converted into the improvement of material life, and partly be converted into the increase of free time. If the productivity of social labor keeps growing, there will be a continuous increase of free time. In fact, it is very unreasonable to assume the contrary case, that people in socialist society would demand that all the increase of the productivity is converted into material improvements.


�     		On the development of bureaucratization in China's first five-year plan, see Meisner (1986, 125-130).


�     		Meisner (1986, 129), in his book on the history of People's Republic of China, made a vivid description about how these Maoist revolutionary cadres were like. "Ideally, the cadre is a selfless person imbued with the proper revolutionary values and committed to the achievement of revolutionary goals...a person who faithfully carries out party policy yet does so with independence and initiative, a person who submits to the discipline of the party organization but at the same time is intimately tied to the masses...The communist revolution owed its success in large measure to the fact that there were indeed many such Party cadres who more or less measured up to this Maoist ideal of revolutionary leadership."


�     		Workers' participation in management in the Great Leap Forward was largely limited at work team level. On the other hand, administrative decentralization could not by itself eliminate bureaucratic power. Instead, by doing away with the coordination mechanism indispensable for bureaucratic planning without at the same time constructing new coordination mechanism based on new social relations, it could only lead to economic chaos.


�      		In the rethinking of Marxism and the failure of the socialist revolutions in the Soviet Union, China, and Eastern Europe, many socialist scholars and activists have placed more and more emphasis on grassroots movement rather than taking over the political power. While this change of emphasis is in general justifiable, there is also the danger of underestimating the importance of taking over the political power. It is naive to think that grassroots people’s movement and participatory democracy can prosper when the political power is still in the hands of the oppressive class. While taking over the political power is by no means equivalent to the victory of socialism, it is nonetheless the primary necessary condition for any further fundamental social change. 


�     		Dawson and Foster (1992) estimated that in 1988, “economic surplus” accounted for 55 percent of the U.S. GNP, most of which was absorbed by various social wastes, such as marketing, advertisement, financial activities, military production, etc. Besides, a large part of social labor wasted appeared not directly as “economic surplus”, but as production costs, e.g. elaborate packaging, frequent model changes, planned obsolescence, etc. On the other hand, in underdeveloped capitalist countries, the most important social waste appears to be the large-scale unemployed or underemployed population who usually accounts for one third of the total labor force. The enormous waste of social labor under capitalism implies that it will be possible for the revolutionary socialist regime to substantially reduce the general working time of working people within a relatively short period after it takes over the political power.
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